
You must show all voltage and current arrows! 

HW 4.4 Combination Circuits  Per ____ Name__________________________________________
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VAB =  48 V 
 
VCB = _____ 
 
VAD = _____ 
 
VEC = _____ 
 
VAC = _____ 
 

I1 =  _____ 
 
I2 =  _____ 
 
I3 =  _____ 
 
Rt = _____ 

I1 

8  2   

4  4  

Vab =   ____ 
 
Vcb = _____ 
 
Vad = _____ 
 
Vec = 8 V 
 
Vac = _____ 
 

I1 =  _____ 
 
I2 =  _____ 
 
I3 =  _____ 
 
Rt = _____ 
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 

 

 

I4 

Vab = _____      
 
Vcb = _____ 
 
Vac = _____ 
 
Vec = _____ 
 
 I1 =   9 A 
 
 I2 =  _____ 
 
 I3 =  _____ 
 
I4 =  _____ 
 
Rt = _____ 
  

 
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 B 
 C 

 E  D 

I2 
I3 

Vab =  _____ 
 
Vcb = _____ 
 
Vad = 6 V 
 
Vec = _____ 
 
Vac = _____ 
 

I1 =  12 A 
 
I2 =  _____ 
 
I3 =  _____ 
 
Rt = _____ 
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